) 5
ore: ﬁ @ 4eThIpe ApoOH, TeCATUUHBIE IPOOH, TOPSTOK
- e oreparmii o CKOOKaMu

Jara: Orenka:

Nwms:

1 3
3,3><6+3+3(§+2,2)= 6(5—3,6)+3X2+3,6=

2 3 2
12(=— =)+=3x2+ ==
(373)73%2+ 3

1 2 1 1

—-3(2-2)= 8(=—3,1)+2x5+4,4=
| 1

5.3-5(z=5.6) = 3,6-3(;-2.3)

11 1
10(; = 3)+5x4+2,2= 25(3 ~2.8)+5x 5+4,7 =
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I %

4eThIpe IpoOu, IeCITUYHbBIE TPOOHU, TOPSIOK

oreparmii o CKOOKaMu

Vs
R
%—x%—§=%2
5,3—5(%—596):% :32%
lo(é_%)+5x4+2,2=%

[ara:

Orenka:

3 24 4
6(573,03x2+3,6=(-)=(47)

2 3 2
12(=—=)+3x2+ =
(373)73%2% 3

238

1
8(=—3,1)+2x5+4,4=("2
(2 9 ) b ( 5

1
3,6-3(3 -2.3) =9

94 4
= ()= (672)

3
)= (7472)

| 603 3
25(=—2,8)+5x5+4,7=(———) = (~60—
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